@ E<1=A 3120-F...Q1 switch only

Description

The 3120 switch serves for switching devices and machinery on
or off. It is available in a range of design versions and meets the
requirements of the relevant standard IEC/EN 61058 for switches for
appliances. Type 3120 is also available as a circuit breaker for equipment
protection in accordance with IEC/EN 60934 (see data sheet thermal
circuit breaker 3120-F).

Product characteristics:

e rocker or push button actuation

@ single pole and double pole versions
@ convenient snap-in mounting

e international approvals

Optional:

@ illumination

e water splash protection
@ push-in terminals

Technical data

AC 240V, DC 50 V

Upon request:

Switch with undervoltage release module:

This version protects the user against bodily harm as an inadvertent
start-up of machinery after a power failure is reliably excluded.

Voltage ratings
Interrupting capacity:
AC 240 V: 16 (4) A
DC 50 V: 16 A
Ambient temperature

25,000 switching cycles
50,000 switching cycles

0..55°C

2.5 kV /2 reinforced insulation at
operating area

Typical applications

Insulation coordination
(IEC 60664)

Dielectric strength

Medical and laboratory equipment, apparatus and machine construction,
professional tools, household and garden appliances, offices
machines, audio equipment, machine tools

Approvals

Operating area
Pole to pole (2-pole)

test voltage AC 3,000 V
test voltage AC 1,500 V

Insulation resistance

> 100 MQ (DC 500 V)

Degree of protection

Approval Standard | Voltage | Current Approval gigr:’gggga)rea P40
authority rating rating logos with water splash cover IP54 or IP66
VDE IEC/EN |AC240 |16(4) A Terminal area IPOO
61058 v 16 A & with water splash cover IP64
DC 50 V — .
Environmental tests
CQC GB 17701 |AC 240 |0.1-20A (IEC 60068)
\Y
DC 50V Vibration 8 g (57-500 Hz), + 0.61 mm (10-57 Hz)
Shock 30 g (11 ms)
Corrosion 96 hours at 5 % salt mist
: : Humidity 240 hrs in 95 % RH
hematic diagram
Schematic diagrams Mass approx. 33 g (2-pole)

1-pole

line

approx. 27 g (1-pole)
approx. 42 g (2-pole with PT terminals)

12()

load 1200 load 220

All information and data given on our products are accurate and reliable to the best of our
knowledge, but E-T-A does not accept any responsibility for the use in applications which are
not in accordance with the present specification. E-T-A reserves the right to change specifi-
cations at any time in the interest of improved design, performance and cost effectiveness,
Dimensions are subject to change without notice. Please enquire for the latest dimensional
drawing with tolerances if required. All dimensions, data, pictures and descriptions are for
information only and are not binding. Amendments, errors and omissions excepted. Ordering
codes of the products may differ from their marking.

1806 www.e-t-a.de 1




@ E<1=A 3120-F...Q1 switch only

Order numbering code Order numbering code

Type No. Type No.
3120 switch with rocker actuation 3120 switch with push button actuation
Mounting Mounting
F3 snap-in, mounting cut-out 50.5 x 21.5 mm F2 flange mounting, mounting cut-out 50.5 x 26 mm,
F5 snap-in, mounting cut-out 44.5 x 22 mm suitable for water splash cover X221 619 01 (IP66)
Number of poles F3 snap-in, mounting cut-out 50.5 x 21.5 mm
0 2-pole Number of poles
6 1-pole 0 2-pole
Style 6 1-pole
1 standard Style
3 with actuator guard F frame with 2 push buttons
4 with water splash protection (IP54) Terminal design
Terminal design PT push-in terminals
PT push-in terminals N7 blade terminals 6.3 x 0.8
N7 blade terminals 6.3 x 0.8 G7as N7, terminals 11 and 21 with additional flat
G7as N7, terminals 11 and 21 with additional flat head screws M3.5
head screws M3.5 Version
Version Q1 switch only
Q1 switch only Actuator style
Actuator style S two push buttons
W rocker Colour of push button/illumination
Rocker colour/illumination GRX  green/red without illumination
01.  black opague without illumination GRXG green translucent with LED
02.  white opaque without illumination illumination/red opaque without
14. R red translucent with illumination
LED illumination lllumination voltage range
19. G green translucent with (= operating voltage)
LED illumination 1 DC12V
Marking 2 DC24V
D 3 AC115V
F 4 AC 230V
Q Q: 0 and 1 moulded in Current rating
X 16 A
lllumination voltage range 3120 -F 20 F - N7 Q1- SGRX -16 A ordering example
(= operating voltage)
1 DC12V
2 DC24V
3 AC115V
4 AC 230V
Current rating
16 A:

3120-F50 4-N7Q1-wW01Q -16A ordering example

2 www.e-t-a.de 1806




@ E<1=A 3120-F...Q1 switch only

3120-F2.F-...

suitable for water splash cover

X221 619 01 (IP66) retaining cip

water splash cover
(see accessories)

35.4 74
16.2 60:0.1
i —
2 ° [ 1
-~ ‘ ~
\ = J
9 ‘ - ‘
< /—
Q 4‘ 232 ‘
PT-screw ) ! LINE
type K40 12() 12(k)$ 1
24 mm =Ty |
o
b T 107 3.5 3
21
. 41
blade terminal 6.3 x 0.8

flat head screw M3.5x6
tightening torque max. 0.8 Nm

3120-F3.1
standard
When installing the circuit breaker
25 apply pressure on the bezel only
~ 16
54
T I | I
9 |
° 3 \ :
] (20) @9
0 8% @
ey
3.5 3
41
blade terminal
6.3x0.8
flat head screw M3.5x6
tightening torque max. 0.8 Nm
3120-F 3.3
with actuator guard
25 54
® 19.5 33.5
\
| I
=1 Y,
wnl o
™l ™ ‘
(<3
©_@=
=Ty o
10,7 3.5 3
21
|
blade terminal 6.3 x 0.8 4

flat head screw M3.5x6
tightening torque max. 0.8 Nm

3120-F2.F-PT...

suitable for water splash cover

12.65 12.65 5.5

X221 619 01 (IP66)

# ~
e
hole for screw
16.1 04 mme.g.: EJOT PT
screw K40 14.1
Il
||
] & |-
[ { N & u 11
o
. ‘ E; J
3 |
I
2 ‘ 232 ‘
| T 2 12w 1
—
| -] !
T
21 42.5
3120-F3.1-PT 12.65 12.65 55
standard
S
= 2
1BEIEENEO)
25
16 54
F#q ® AN
= |
T 2 |
I ~ I
12() 12(k)4EI 1
[nm—]
s | [
I
21 425
3120-F 3.4
with water splash protection (IP54)
27 56
©
=] 19.5 35
\
L |
= ‘
3 | F I
= - | I
® |
L ce
® _@= O
=T o
[ 107 35 3
21
41

blade terminal 6.3 x 0.8
— flat head screw M3.5x6

tightening torque max. 0.8 Nm

1806

www.e-t-a.de




@ E<1=A 3120-F...Q1 switch only

12.65 12.65 5.5
3120-F 5.1 3120-F5.1-PT Wiy
standard standard
25 OFF position 25
~ 16 48 16
o
C ¢_|_
|
g T U { D
3 g |
n . ! &?_
1 @J w# @ | 120) 120 11
e
‘ ‘ 10.7 3.5 3 D = i
21
. 21 42.5
blade terminal 6.3 x 0.8 41
flat head screw M3.5x6
tightening torque max. 0.8 Nm
3120-F5.3 3120-F5.4
with actuator guard with water splash protection (IP54)
25 48 27 50
19.5 35 195 35
1
N‘ i - | < ( \_3 |
- | b |
Q JJ i \t » . C ]
. | . Vv
;.e *
(120) @ @ (124) = @
Ty ‘ S == =
35 i =
3 107 85 )
. 41 21| #
blade terminal 6.3 x 0.8 )
flat head screw M3.5x6 blade terminal 6.3 x 0.8
— tightening torque max. 0.8 Nm flat head screw M3.5x6
tightening torque max. 0.8 Nm

4 www.e-t-a.de




@ E<1=A 3120-F...Q1 switch only

Cut-out dimensions Installation drawing

Terminal types

1-pole version

3120-F561-PT

2-pole version

3120-F501-PT

- b t: metal min. 2 . .
3120-F2... _ 1 . plastic min. 3 3120 with blade terminals
t
600,15
When installing the circuit breaker apply pressure on bezel only.
50.5+0.5 R2
operating area
S — - N
o 1
8 \ —o —‘—— \ S
‘ g BETA®
| @ GERMANY
<
Q
(<3 3
(=] —
Cut-out -F3 Cut-out -F5 - @w= 0
02 min. 2.5 ,/H ﬁ min.
Y |2
-7 — R’T i maxAL5 7 7 8 7 10
- X. IS =5
3 Foos £ g
€ 50.5+08 max. R0.3 - : mounting area
] —H
3 \ . RO. |3 . . .
3 | max. R03 l‘ & 3120 with push-in terminals
S | —
' . When installing the circuit breaker apply pressure on bezel only.
Edges of working parts: 1SO13715

operating area
\‘—Lﬁ
F BETA®
GERMANY
- —— ee—
@0 @ 2
E )
(a- o
—0 7 I
7 7 8 7 10

mounting area

Cable cross sections PT terminals

(with or without plastic sleeve)

cable cross section with direct
push-in wiring
rigid 1...4 mm?2
(stripping length: 10 mm)
flexible with wire end ferrule 0.5...2.5 mm?2

cable cross section when opening
the push-in terminals
rigid 0.5...4 mm2
(stripping length: 10 mm)
flexible without wire end ferrule | 0.5...2.5 mm2

1806

www.e-t-a.de




@ E1=A 3120-F...Q1 switch only

Accessories

Insulated cover Rear terminal shroud black (IP64)
Y 303 068 01 Y 304 275 01
‘ 25
W 40,5
; 1.75/055 20.5
A I ‘
9d ) o
20

70%5

Terminal adapter ! ! |
Y 303 862 01 | ey | A

10|

o8

13.5

Water splash cover, transparent (IP66)

blade terminal 6.3 x 0.8 for style -F2...
X 221619 01

25

16.5

35

Mounting of
X221 619 01

6 www.e-t-a.de 1806



@ E<1=A 3120-F...Q1 switch only

Accessories

Plug-in connector (for connection types N7 and G7)
Y 31214001
Connecting cables can be pre-wired. Two retaining clips ensure a tight fit.

5.5 12

45
=)
=D

24

42 21.2

Benefits:
® Reduced installation time and costs for final assembly
® Quick replacement of devices

Note:

Delivery without receptacles.

Dimensions of receptacles (width 6.3 mm) are in accordance with DIN 46340 part 3, shape A.
Examples of suitable receptacles: Stocko RSB 7916 F6,3-1 / Klaucke type 2730 / Vogt type 3832d.67 /
TE FASTON Terminals 250 Series / Delphi Packard 58 Series

Plug-in connector mounted on circuit breaker:

J BIERA® [
GERMANY

33

C€
oc & _

24

42 21.2

1806 www.e-t-a.de




@Iasﬂ U

KomnaHus ((3J'IeKTpO|_|J'|aCT» npeanaraeT 3akKn4vyeHmne onrocpoYHbIX OTHOLLIEHUN npu
NOoCTaBKaxX MMMNOPTHbIX 3NTEKTPOHHbIX KOMMOHEHTOB Ha B3aMMOBbLIFO4HbIX yCJ'IOBI/lFlX!

Hawwn npeumyuiectsa:

e OnepaTuBHbIE NOCTABKM LUMPOKOrO CMeKTpa 3NeKTPOHHbIX KOMMNOHEHTOB OTEYECTBEHHOIO U
MMMOPTHOrO NPON3BOACTBA HANPAMYO OT MPOM3BOAMTENEN U C KPYNMHENLLNX MUPOBbLIX
CKNaaos.;

MocTaBka 6onee 17-TM MUNIIMOHOB HAMMEHOBAHWUIN 3NEKTPOHHbLIX KOMMNOHEHTOB;

MocTaBka CNoXHbIX, AeULNTHBIX, MMOO CHATLIX C MPOM3BOACTBA NO3ULIUIA;

OnepaTtunBHbIE CPOKM NOCTABKM Nof 3aka3 (0T 5 pabounx gHewn);

OKcnpecc goctaska B Nnobyto Touky Poccuu;

TexHnyeckas nogaepkka npoekTa, NomMoLLlb B nogdope aHanoros, NocTaBka NPOTOTUMOB;

Cuctema MeHeXMeHTa KavyecTBa cepTuduumnposaHa no MexayHapogHomy ctaHgapTty 1ISO

9001;

o JlnueHausa ®CH Ha ocyulecTBneHne paboT ¢ NCNONb30BaHWEM CBEOEHUIN, COCTABAOLLINX
rocygapCTBEHHYIO TalHy;

o [locTaBka cneumnanmampoBaHHbIX KOMNoHeHToB (Xilinx, Altera, Analog Devices, Intersil,
Interpoint, Microsemi, Aeroflex, Peregrine, Syfer, Eurofarad, Texas Instrument, Miteq,
Cobham, E2V, MA-COM, Hittite, Mini-Circuits,General Dynamics v gp.);

MoMMMO 3TOro, O4HMM M3 HanpaBnNeHU koMnaHum «AnekTpollnacT» ABNseTca HanpaBneHne

«UcTouHmkn nutaHua». Mel npeanaraem Bam nomoub KoHCTpyKTOpCKOro otaena:

e [logGop onTuManeHOro peleHus, TexHn4eckoe 060CHOBaHME Npu BbIOOpPE KOMMOHEHTA;
Monbop aHanoros.;
KoHcynbTaumm no NpUMEHEHMIO KOMMOHEHTA;
MocTaBka 06pa3yoB M NPOTOTUMNOB;
TexHn4veckasn noaaepka npoekTa;
3awmTa OT CHATMSA KOMMOHEHTA C NPON3BOACTBA.

Kak c Hamu cBfizaTbCcA

TenedoH: 8 (812) 309 58 32 (MHOrokaHanbHbIN)
Pakc: 8 (812) 320-02-42

OnekTpoHHas nouTta: org@eplastl.ru

Aapec: 198099, r. Cankt-INeTepbypr, yn. KannHuHa,
Oom 2, kopnyc 4, nutepa A.



mailto:org@eplast1.ru

